
 

 CS-7 Unistrut Brace Kit www.wrensolutions.com 7L231 rev C 

INSTALLATION INSTRUCTIONS  
PSAT1-3245D  
INSTALLATION INSTRUCTIONS  
CS-7 UNISTRUT BRACE KIT 

Components 

A. 7’ Unistrut (1) 
B. Truss (Not Included) 
C. Bolt 3/8” x 16 x 5 1/2” (2) 
D. Fender Washer 3/8” ID x 1 3/4” OD x .093 THK (4) 
E. Lock Washer 3/8” (2) 
F. Nut 3/8” x 16 (2) 

Required Tools 

1. Socket Wrench Size 9/16” 
2. Combination Wrench Size 9/16” 

Overview 

The CS-7 Unistrut Brace Kit is designed to allow camera placement between red iron struc-
tures. 

Warnings and Safeguards 

Prior to Installation and use of this product please observe the following warnings: 
1. Installation and servicing should be done by qualified personnel, and all work should conform 

to local codes. 
 

2. Using replacement parts or accessories other than Wren products may invalidate the warranty. 

CS-7 Unistrut Brace Kit 



 

 CS-7 Unistrut Brace Kit www.wrensolutions.com 7L231 rev C 

INSTALLATION INSTRUCTIONS  
PSAT1-3245D  
INSTALLATION INSTRUCTIONS  
CS-7 

Installation Steps 

1. Place Unistrut (with hole-side down as shown), across the TOP of the lower angle portions of 
two adjacent red iron building trusses. When used with CM-XL-x poles, position Unistrut hole-
side UP. 
 

2. To secure the Unistrut to the truss proceed as shown in Figure 1. 
a.   Place Fender Washer “D” onto bolt “C”. 
 
b.   Slide bolt “C” with one Fender Washer “D” between the lower two angle iron portions of the 
truss. Followed by, Unistrut “A” then the second Fender Washer “D”, then the Lock Washer “E”, 
followed by Nut “F” 
 
c.   Thread the Nut “F” on the Bolt “C” loosely. 
 
d.   Repeat instruction 2-b and 2-c on the other end of Unistrut “A”, and the second truss. 
 
e.   Position the Unistrut “A” to desired location. 
 
f.   Thread Nut “F” onto Bolt “C” until Unistrut is securely fastened. 


